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Ideals for irreducible component#ﬂ)f Xpar

=W 4 u® 4 —u—1)

* 1 irreducible components of dim¢ = 0, with total 34 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATsTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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LI=(w*4u®¥+... —u—1)

(i) Arc colorings

w- (1)

1

ag — 0
1
a7 = _u2
u
ar = \ —ud +u
—u3

a3 = \u® —ud+u

—u?+1
a6 = 7,“2

uwt—u?+1
ag = u4

—u'? 4+l — 38 208 —u? 41

a10 = \uM — 202 4+ 5019 — 60 + 6ub — 2u* + u?

—ub +ut —2u% +1
a5 = —ub —u?

—u3? +3u30 - —du? + 1
a4 = —U33 'LL32+" +u+1

—ut® 4+ 201 — 6ul! 4+ 8u? — 10u” + 8u® — 4u + 2u
aj; = —ut® ol — 4t 30 — 40"+ 20 — 20 +u

—ul® 4+ 20413 — 6ult + 8u? — 10u” + 8u® — 4ud + 2u
ai] = —ul® 4l — 4ot + 30 — 4w+ 245 — 203 +u

(ii) Obstruction class = —1

(iii) Cusp Shapes

= 44?3 — 1603 —4u30+68u2? + 1208 —180u?7 — 52126 +420u25 +112u* — 788123 — 244422 +
1248u?! 4+ 376u?° — 16961 — 508u'® + 1916w'7 + 528u'6 — 1876u'° — 436u'* + 1504u'3 +
248u'2 —1040ut — 761045841 —16u8 —276u” +32uS+108u’ —24u* —28u’+12u? +12u—14



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
c1,C7 W e =1
Ca,Cs, C
2,C5,C6 u34—|—7u33+--~+7u—|—1
Cs
C3,C4,C10 w4 —3u—1
Cg, C11 u34+u33—|—-~-—11u—2




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
c1,Cr TR (Ve N (T |
C2,Cs, Ce y34+41y33++y+1
Cs
C3,C4,C10 y34+29y33+--~—7y+1
¢, C11 315y 4. — 25y + 4




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1(vol + y/=1CS)

Cusp shape

u = —0.747104 4 0.6374161

6.64470 4 2.364891

—2.86883 — 3.729681

u = —0.747104 — 0.6374161

6.64470 — 2.364891

—2.86883 + 3.729681

u = —0.899925 4 0.4758971

—2.14151 + 4.623761

—13.8382 — 7.08381

u = —0.899925 — 0.4758971

—2.14151 — 4.623761

—13.8382 4 7.08381

u= 0.872014 + 0.4004961

0.949146 — 0.9785851

—10.88963 + 3.284391

u= 0.872014 — 0.4004961

0.949146 + 0.9785851

—10.88963 — 3.284391

u= 0.922322 4+ 0.5145181

2.40379 — 8.433621

—8.56504 + 8.660681

u=0.922322 — 0.5145181

2.40379 +- 8.433621

—8.56504 — 8.660681

u = —0.911159 + 0.0645571

—0.80027 + 3.729131

—14.4528 — 4.18951

u = —0.911159 — 0.0645571

—0.80027 — 3.729131

—14.4528 4 4.18951

u= 0.901185

—4.70685

—19.4900

u= 0.703635 4 0.4754871

1.07563 — 1.830241

—6.47079 + 5.979361

u= 0.703635 — 0.4754871

1.07563 + 1.830241

—6.47079 — 5.979361

u = 0.484387 4 0.6607681

3.79773 4+ 4.051891

—4.65777 — 2.659471

u= 0.484387 — 0.6607681

3.79773 — 4.051891

—4.65777 4 2.659471

u = —0.905647 + 0.8766581

8.74108 +4- 3.004651

—6.23462 — 3.510221

u = —0.905647 — 0.8766581

8.74108 — 3.004651

—6.23462 + 3.510221

u= 0.887193 + 0.8958741

6.61353 + 1.011801

—9.12967 — 1.187831

u = 0.887193 — 0.8958741

6.61353 — 1.011801

—9.12967 + 1.187831

u = —0.885998 4 0.9112041

11.67770 — 4.898431

—4.67803 + 2.359291

u = —0.885998 — 0.9112041

11.67770 4 4.898431

—4.67803 — 2.359291

u = —0.933946 + 0.8635151

8.64990 + 3.441361

—6.50419 — 1.506661

u = —0.933946 — 0.8635151

8.64990 — 3.441361

—6.50419 + 1.506661

u = —0.440591 + 0.5641841

—0.754026 — 0.6476771

—10.09307 4 0.887821

u = —0.440591 — 0.5641841

—0.754026 4 0.6476771

—10.09307 — 0.887821

u=0.957008 + 0.8646331

6.39073 — 7.518881

—9.58479 + 5.889331

u = 0.957008 — 0.8646331

6.39073 + 7.518881

—9.58479 — 5.889331

u=0.933149 4 0.9008371

15.8663 — 3.32071

—2.12280 + 2.391311

u=0.933149 — 0.9008371

15.8663 + 3.32071

—2.12280 — 2.391311

u = —0.967526 4 0.8719291

11.4151 + 11.47671

—5.20067 — 7.042031




Solutions to I}

V=1(vol + v=1CS)

Cusp shape

= —0.967526 — 0.8719291

11.4151 — 11.47671

—5.20067 + 7.042031

0.226712 + 0.5372121

2.73574 — 2.312481

—4.68504 + 3.189401

2.73574 + 2.312481

—4.68504 — 3.189401

U
U
u= 0.226712 — 0.537212]
u = —0.490234

—0.620230

—16.5580




II. u-Polynomials

Crossings u-Polynomials at each crossing
c1,C7 B4 —u—1
€2, Cs,Co
2,65, C6 U34+7u33++7u+1
Cs8
C3,C4,C10 U34*U33+"’*3U71
Cg, C11 a4 —1lu—2




ITI1. Riley Polynomials

Crossings Riley Polynomials at each crossing
c1,c7 Yy -TyB Ty + 1
C2,Cs5, Cq y34+41y33+...+y+1
Cs8
€3, C4, C10 v 29y 4+ =Ty +1
Cg, C11 y34715y33+ —25y+4




